K

SctAE HAE 8 &5 HEY U= 28 2 2H|21E2 2

HA ZERix
£ 4T/HE 0/0/x]

ks

HE My
QlEiA EHx= HHoR ols & St et X WXlsH|
215} AFSEILICY

olE S0f 71|, &l 7H7 U S+ A MEQ| Zolot £0| T EE
9Ixl a2 ol Bt

Bix{ EEE £502 S0{obRt C}E B3 9IxI2 OIS Y £ laLich
FAIZhol B2 MEfot 33 Tlo| ¥ AT YXIsHoF & B2 C EHel
e D Eblg AL sHok BhLict

THE:
AR T
LIAE sE2l2 U 73 E A

=& A3l 1.4310.

AE|IQIZ|A AR HT A2

LIAF 25 1.4305.

=2 El 723l 1.4034.

= Elo| FEtE|X| &£ S 1.4305.
5 AxZ 3 1.4310.

HAY T8 HitAN E5|M e AlS S whZHAH RAL3020.

LiAb 2|8, 478 =t AMEl
& M2, Ao L HHY 4

LIAb 2|2 EH F= X2
= E B& £= F3tE X 5, oot & 2 = 2.

AHIQIBA AL A A4
LIAl &2|2 T ZHEd &2

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/4



E2LAE HAS TR AT WET s AR E2 A2 0
BIA E 2]

=N
D2
‘ !
- SW1
N
~d
~l
‘ 0
e
LI-‘-F L
w
-0,02
D-0,04
D1
Zs g0t
FEHS E 2 xR & A ) SHEITE A D D1 D2 L L1L2L3 AE SW1 Fx A[EF  EbM
2 g7 7|28 23 30° EBMd I=
S F1 F2
F N 2N
K0338.3903 C AE - FEED ZAZ[MRAL 7021 3 M6x0,751431,512510 3,5 8 08 45 10
K0338.3004 C AEl - PEE Z35|M RAL7021 4 M8x1 1838515613 4 10 1 6 12
K0338.3105 C AE - 23t 3| M RAL7021 5 M10x1 2143517715 5 13 1,3 5 12
K0338.3206 C AE - 23t ZH43|M RAL 7021 6 M12x1,52551,7208 17 6 14 1,8 6 14
K0338.3308 C AEl - PEET Z435|M RAL 7021 8 M16x1,533 68 261023 8 19 23 15 35
K0338.3410 C AE - 23t H43|M RAL 7021  10M20x1,533 74 281225 10 22 2,8 15 34
K0338.3412 C AR - 23t 43| RAL 7021  12M20x1,533 78 281425 12 22 28 15 39
K0338.3516 C AEl - PEET Zd5|A RAL 7021 16 M24x2 40 96 321828 16 27 3,2 20 46
K0338.390384 C AE - PEE AlE S Wz RAL 3020 3 M6x0,751431,512510 3,5 8 08 45 10
K0338.300484 C AE - a3t AlZ S Wz RAL 3020 4 M8x1 1838515613 4 10 1 6 12
K0338.310584 C AE - A3t AE S5 Wz RAL3020 5 M10x1 2143517715 5 13 1,3 5 12
K0338.320684 C AE - FEET AlE S Wz RAL 3020 6 M12x1,52551,7208 17 6 14 18 6 14
K0338.330884 C AR - PR Al 5 Wz RAL 3020 8 M16x1,533 68 261023 8 19 2,3 15 35
K0338.341084 C AEl - PEET] AlS S iz RAL 302010M20x1,533 74 281225 10 22 2.8 15 34
K0338.341284 C AE - PEE AlE S Wz RAL 302012M20x1,533 78 281425 12 22 28 15 39
K0338.351684 C AE - PEE AlS S Wz RAL 302016 M24x2 40 96 321828 16 27 3,2 20 46
K0338.03903 C fal?_lé 1.4034 PEE 45| RAL 7021 3 M6x0,751431,512510 3,5 8 08 45 10
A AE
K0338.03004 C fEﬂO._I . 1.4034 PEE Z43|M RAL7021 4 M8x1 1838515613 4 10 1 6 12
A AE]
K0338.03105 C fEiIO._I | 1.4034 PEE Z3|M RAL7021 5 M10x1 2143517715 5 13 1,3 5 12
A AE]
K0338.03206 C |AE+|°._I | 1.4034 a3t ZH43|M RAL 7021 6 M12x1,52551,7208 17 6 14 1,8 6 14
A AE]
K0338.03308 C |¢E+|°._I | 1.4034 z#3t Z43|M RAL 7021 8 M16x1,533 68 261023 8 19 23 15 35
A AE]
K0338.03410 C fEﬂO._l | 1.4034 A3t A3|M RAL 7021 10M20x1,533 74 281225 10 22 28 15 34
A AE]
K0338.03412 C fEﬂO._Ié 1.4034 PEE 35| RAL 7021  12M20x1,533 78 281425 12 22 28 15 39
A AE
K0338.03516 C fEﬂ?_l . 1.4034 PEE Z35|A RAL 7021 16 M24x2 40 96 321828 16 27 3,2 20 46
A AE]
K0338.0390384 C lAEilo._l | 1.4034 PEE Al 5 Wz RAL 3020 3 M6x0,751431,512510 3,5 8 08 45 10
A AE]

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  2/4



S22 A Ol A &3 LHEJ s 28 =2 2|2l A 2l
A ZEF]
ES Y
FEMS E 24 A A EH THE M D D1 D2 L L1L2L3 £2E SW1 Fx A& EfM
&l Bz 72 SA 23 30° Bt BE
> N SN
K0338.0300484 C affﬂ%lg 1.4034 PZES AES WZ RAL3020 4 M8x1 1838515613 4 10 1 6 12
K0338.0310584 C af:al:ﬂg 1.4034 a3 AlE S wZ RAL 3020 5 M10x1 2143517715 5 13 13 5 12
K0338.0320684 C Ef:Eﬂ:ﬂEl 1.4034 33t A5 5 w2z RAL 3020 6 M12x1,52551,7208 17 6 14 18 6 14
K0338.0330884 C Ef:E“EJ: 1.4034 33t A5 5 wZh RAL 3020 8 M16x1,533 68 261023 8 19 23 15 35
K0338.0341084 C Ef:EﬂE_I: 1.4034 A3t A5 5 #Z RAL 302010M20x1,533 74 281225 10 22 28 15 34
K0338.0341284 C Ef:EﬂZﬂ: 1.4034 4s A5 S wZ RAL 302012M20x1,533 78 281425 12 22 28 15 39
K0338.0351684 C Ef:Eﬂ:ﬂ: 1.4034 PEE A5 S wZ RAL 302016 M24x2 40 96 321828 16 27 32 20 46
K0338.13903 C Ef:E“E“lE: 14305  H|ZH3St Z3|M RAL 7021 3 M6x0,751431,512510 35 8 08 45 10
K0338.13004 C EfIEiIIO_IEI 14305 H|ZS Z4%|M RAL7021 4 M8x1 1838,515613 4 10 1 6 12
K0338.13105 C Ef:E“E“l: 14305 H|Zst A3 RAL7021 5 M10x1 2143517715 5 13 13 5 12
K0338.13206 C Ef:EﬂE_': 14305  H|ZAS 73| RAL 7021 6 M12x1,52551,7208 17 6 14 18 6 14
K0338.13308 C Ef:EﬂZﬂ: 14305 H|ES Z43|M RAL 7021 8 M16x1,533 68 261023 8 19 23 15 35
K0338.13410 C Ef:EﬂI"_': 14305 H|AS ZAS|M RAL 7021 10M20x1,533 74 281225 10 22 28 15 34
K0338.13412 C Ef:E“:O‘lE: 14305 H|Zs &M RAL 7021  12M20x1,533 78 281425 12 22 28 15 39
K0338.13516 C Ef:EﬂE_IEI 14305  H|Z3%t 3| RAL 7021 16 M24x2 40 96 321828 16 27 32 20 46
K0338.1390384 C af:E“E“: 14305 H|ZE A5 wZ RAL 3020 3 M6x0,751431,512510 35 8 08 45 10
K0338.1300484 C Ef:EﬂIO_': 14305 H|ZE AES¥Z RAL30204 M8x1 1838515613 4 10 1 6 12
K0338.1310584 C af}l:ﬂ: 14305 H|ZFE AlEZS#WZ RAL30205 M10x1 2143517715 5 13 13 5 12
K0338.1320684 C Ef:E“IO‘l: 14305 H|Zs AES @Z RAL 3020 6 M12x1,52551,7208 17 6 14 1,8 6 14
K0338.1330884 C Ef%l:ﬂs: 14305 H|Z3 AlEZS wZ RAL 3020 8 M16x1,533 68 261023 8 19 23 15 35
K0338.1341084 C Ef:E“E“lE. 14305 H|ZE AES @z RAL 302010M20x1,533 74 281225 10 22 28 15 34
K0338.1341284 C af:al:ﬂ: 14305 H|ZE AES @z RAL 302012M20x1,533 78 281425 12 22 28 15 39
K0338.1351684 C af:E“EJ: 14305 H|ZE AlEZS #Z RAL 302016 M24x2 40 96 321828 16 27 32 20 46
K0338.63903 C Ef:EﬂE_I: 1.4404 Lal{%l |§ 73| RAL 7021 3 M6x0,751431,512510 35 8 0,8 3 6,5
K0338.63004 C Ef:EﬂZﬂ: 1.4404 Iﬁl{% ; 73| RAL7021 4 M8x1 1838,515613 4 10 1 7 15,5
K0338.63105 C ¢_E+I?°_IE 14404 UZE ZH3|M RAL7021 5 M10x1 2143,517715 5 13 1,3 4 12,5
Bl A8 zlolE
K0338.63206 C afflfg 1.4404 LE%E 3| RAL 7021 6 M12x1,52551,720817 6 14 18 7 14,5
K0338.63308 C Eff“%le. 1.4404 IE'{%E Z3|M RAL 7021 8 M16x1,533 68 261023 8 19 23 15 35
K0338.63410 C af:E“E“l: 1.4404 Lal{%é Z3|M RAL 7021 10M20x1,533 74 281225 10 22 2,8 15 30
K0338.63412 C Ef:EﬂE_I: 14404 LZ % Z3|M RAL 7021 12M20x1,533 78 281425 12 22 28 15 39
K0338.63516 C ﬁ_EﬂEIE 1.4404 I_EI{L:'E Z3|M RAL 7021 16 M24x2 40 96 321828 16 27 32 20 40
gla A8 glolE
K0338.6390384 C Efflz_lg 1.4404 Lal{% E A5 S wZ RAL 3020 3 M6x0,751431,512510 3,5 8 0,8 3 6,5
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  3/4



=ZalAEI] A3 X ol = AElI =SS AFIO A0
ZoAE HAE Ol #3 HEJ = AR =2 AH|lgAa 2l
CllA =2 x.l
— 2
EZ5 29
FEWMHS E 2 "HE A ™ LA A AL D D1 D2 L L1L2L3 AE SW1 Fx A[EF EFRM
| g7 72 A 23 30° EMH  B=
S F1 F2
o N 9N
K0338.6300484 C AH|Ql 14404 LA Z (A3FZS5WZRAL30204 M8x1 1838515613 4 10 1 7 15,5
flA AE] to|E
K0338.6310584 C AE|Ql 14404 LA E (ASSWZRAL30205 M10x1 2143517715 5 13 1,3 4 12,5
flA AE] to|E
K0338.6320684 C AE|QI 14404 LZAZ (M35 wZ RAL3020 6 M12x1,52551,7208 17 6 14 18 7 14,5
A AR glo|lE
K0338.6330884 C AEQl 14404 LZZ A5 wZRAL 3020 8 M16x1,533 68 261023 8 19 2,3 15 35
tlA AE! to|E
K0338.6341084 C AHQl 14404 LUZZ Al5S #Z RAL302010M20x1,533 74 281225 10 22 28 15 30
A AE] glolE
K0338.6341284 C AHQl 14404 LUZZ A5SwZ RAL302012M20x1,533 78 281425 12 22 28 15 39
A AE Blo|E
K0338.6351684 C AH|Ql 14404 LUZZ AE5SwZRAL302016 M24x2 40 96 321828 16 27 3,2 20 40
A AE glolE
K0338.73903 C AE|0l 1.4404  XIH Z35|M RAL 7021 3 M6x0,751431,512510 3,5 8 08 3 6,5
flA AE] ot 2|
K0338.73004 C AE|0l 1.4404  XIH Z435|M RAL7021 4 M8x1 1838515613 4 10 1 7 15,5
fl&a AE otF 2|
K0338.73105 C AE|Ql 1.4404 XA Z3|M RAL7021 5 M10x1 2143517715 5 13 1,3 4 12,5
fla AE! ot 2|
K0338.73206 C AHQl 1.4404  Rb% ZH3|M RAL 7021 6 M12x1,52551,7208 17 6 14 1,8 7 14,5
flAa AE! ot 2|
K0338.73308 C AHQl 1.4404 A% 43| RAL 7021 8 M16x1,533 68 261023 8 19 23 15 35
flA AE! ot 2|
K0338.73410 C AH|Ql 1.4404  Ri% H43|M RAL 7021  10M20x1,533 74 281225 10 22 2,8 15 30
A AE] o2l
K0338.73412 C AEQl 1.4404 K% 35| RAL 7021  12M20x1,533 78 281425 12 22 28 15 39
A AE] ot
K0338.73516 C 22l 1.4404  AIX HE|M RAL 7021 16 M24x2 40 96 321828 16 27 3,2 20 40
fl&a AE oFF 2|
K0338.7390384 C Nz 1.4404 XX AlES wWZH RAL 3020 3 M6x0,751431,512510 3,5 8 08 3 6,5
flA AE! ot 2|
K0338.7300484 C AEQl 1.4404 RFdX  AlEZS WZFRAL 3020 4 M8x1 18385156 13 4 10 1 7 15,5
flA AE! ot 2|
K0338.7310584 C AHQl 1.4404 R4 AES WZFRAL3020 5 M10x1 2143517715 5 13 1,3 4 12,5
tlAa AE! ot 2|
K0338.7320684 C AH|Ql 1.4404 R AlES wZ RAL 3020 6 M12x1,52551,7208 17 6 14 1,8 7 14,5
A AE] o2l
K0338.7330884 C AH|Ql 14404 RdX  AlES wZ RAL 3020 8 M16x1,533 68 261023 8 19 23 15 35
A AE] ot
K0338.7341084 C AE|Ql 1.4404 XX AlS S wZF RAL 302010M20x1,533 74 281225 10 22 28 15 30
flAa AE oFF 2|
K0338.7341284 C AE|Q] 1.4404 XX AlSS W2 RAL 302012M20x1,533 78 281425 12 22 28 15 39
A AR ot 2|
K0338.7351684 C AEQl 1.4404 XX AlES WZ RAL 302016 M24x2 40 96 321828 16 27 3,2 20 40
tlAa AE! ot 2|
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/4



